
Challenge:

Round your answers to the nearest 
10.

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 963 ÷ 3 =

3) 512 ÷ 4 =

1) 480 ÷ 2 =

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

Date:
Score:

2) 4302 ÷ 9 =

3) 2198 ÷ 7 =

1) 3948 ÷ 6 =

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 4178 ÷ 6 = 

3) 3397 ÷ 3 =

1) 7485 ÷ 8 =

Date:
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 3365 x 12 =

3) 452 x 36 =

1) 7421 x 4 =

Challenge:

Round your answers to the nearest 
100.

Challenge:
Roman Numerals!
Calculate the answers to these 
Roman Numeral calculations:
XCVI + VIII = 
DCL - CCL =
MMDL + CCXIX =

Challenge:

Explain how you solved question 3.


